138

Galimou—X)
YINIMAE=RTYMO=-5
Tvaoo™M"yALT
R
o R TITEERTILININTT,
o KRB TOREAEI LTV,
NN THRERBERAREIIRAETYT, (VZ78R)
o F1—T3T v 1T ERHTT,
Fa—TDERFICOEE-TERARETT,

o HERMEAAS (UL94ARAEV-04E2Y) $R A,
Mﬂtl’éﬁ‘};‘?’k\’lﬁPBTﬁTHEﬁfﬁ xq® \i'a‘o UL94§EE1‘%
V-01EY T BEENEICENTWET, /Ny &h

[fERBEDHIENRLEER T ST]
TIAFEAT . $6F 21— TRIBRUMHDHE

RETHBIE T CEATEET, — @ED 7/ AE—F a5
o BEM o ND-SMIBEREL TVET, ¢ | et
REREOBD D RNDIAITDEE 2 200 o
BEFELET, £ (0.5MPak%) / /
e RIAUEBIC—IVANT . < 400
=T =TEEDEF B EE A, g /
0 5 10
Z—R)vEExEy (El)
HEisEER
INCRIL (E58R)
Oy F bk (E4R) *
=—KJL (&$R) *

Ny T (ERE 2 $/-IFPOMIKHE)
Oy 72T (RFLX)

H5— (BEREEEIEE) ¥

Y —RR—T (MIEPBTHAS)

A7 1 (HEMRIEPBTHIE)
Fa—T¥—IL (45FNBR)
0U>7 (455%NBR)
Frv7—Ib (455NBR)
TET 2 () *
FIyTINIVT (E4R) *

=PI (RBLUDAH)
(A->FMET—71>7)

KRB VD OBAIE
& =212 2(7 I AyoFyMCRBEERTOX—MLEEL TVET,

R R 2Dl A=FF b XA—=5 1 V5H|

ASC6-R1/4-0
$REs 26
st g r
(O:IA=ZT IR A—=51)
fly1x
SERF1—THE \
ok |
. — - !“—__\q_z
A=ZT N A—5A
Oy OB THALET
BAF1—T

ILEVF1—F FAAVFai—T7 HEBEFi—T  FNIREEF-T  SoREEF1—T

DI DI

U2 U1 N2 N5 N1 FS FW FWU FUK PL PN

(3%1) PL.PN.TATPF2—T7EDMELTHERADHE VU221 TE— I TDRELIHEVET,
T)=CERET CEAT5EE. 7V LANIVOETISERL TS,

TA TP

(5B FR 752 « {88 PR P 8

SRR SRR EE 45
TR +5C~—+60C

FENFME

RefERES : 1.0MPa

£ ED;FEHIN

MNER Fa—TOFEREEFERFOERSE
B35 6 RIEBEEAYVHETSE
BRI TIERELESD,

MANEE Oy 7 FyRENRILDREDF T TFA
Y—HEDBREAFERET . FTHOM
TLEEL,

MNEE RIS 2B IC RN T 5188
ICE-TVWEY, REHNTEEBICEES
HREWIBTBREMEDN HIET,

MNEE BFEICHEATEE A,

MNEE RE—Ra>bO-SERRORNER%E
TEEBL THERS IS T ALY,

MNER HFOF1—TEAOTOALETES
BT TSV ERF 12— TRD2ED
ERFE AR TSN,

MANER ZE—ROCbO—SERNVEFBL TV E
TOTBHAALLTERTEE A,

G HIE B — R EE O B EEIL

P.1345ZHBEEL,

il

A=
=Fh
iR
MAHADSHS MAHAICAD
ERREWELET, TERBERAELET,

REEH
TRBAEME T T T e, P.163
UL-Q4351& BRIGEERER - -veeverrnnnnnnns P.195



AVINOAE—=RIbO=3

I Tuvto«7

@3IVH(X
bl T K F _| HXo

N B B e = x =--x Ml 5 E4 L A A N T

(mm) | (M,R) [(mm)]|(mm)|(mm)|(mm)|(mm)|(mm)| (mm) (mm) | (mm) |[(mm)|(mm)|(mm)| (g)

ASC4-M5-0 4 M5X0.8 | 18.0 | 10.1 | 22.8 | 28.6 | 25.8 | 3.4 13.5 8.0X9.0 | 8.0 50 | 9.8 | 9.6 8.0

ASC4-M5-1 4 M5X0.8 | 18.0 | 10.1 | 22.8 | 28.6 | 25.8 | 3.4 13.5 8.0X9.0 | 8.0 50 | 98 | 9.6 8.0

ASC4-R1/8-0 4 R1/8 20.1 | 13.7 | 27.2 | 36.0 | 31.0 | 7.3 13,5 [12.0X13.5| 11.0 | 8.0 | 9.8 | 14.2 [ 19.0

ASC4-R1/8-1 4 R1/8 20.1 | 13.7 | 27.2 | 36.0 | 31.0 | 7.3 13,5 [12.0X13.5| 11.0 | 8.0 | 9.8 | 14.2 [ 19.0

ASC6-M5-0 6 M5X0.8 | 20.3 | 10.6 | 25.1 | 28.6 | 25.8 | 3.4 15.0 8.0X9.0 | 8.0 5.0 | 126 | 9.6 9.0

ASC6-M5-1 6 M5X0.8 | 20.3 | 10.6 | 25.1 | 28.6 | 25.8 | 3.4 15.0 8.0X9.0 [ 8.0 5.0 | 126 | 9.6 9.0

L3 ASC6-R1/8-0 6 R1/8 21.8 | 13.7 | 289 | 36.0 | 31.0 | 7.3 15.0 (12.0X13.5| 11.0 | 8.0 | 12.6 | 14.2 | 20.0

L1 ASC6-R1/8-1 6 R1/8 21.8 | 13.7 | 28.9 | 36.0 | 31.0 | 7.3 15.0 [12.0X13.5| 11.0 | 8.0 | 12.6 | 14.2 | 20.0

9”':‘/' ASC6-R1/4-0 6 R1/4 23.6 | 18.2 | 32.9 | 40.3 | 35.3 | 10.8 15.0 [14.0X15.8| 13.0 | 10.0 | 12.6 | 18.5 | 33.0

¢ ASC6-R1/4-1 6 R1/4 23.6 | 18.2 | 32,9 | 40.3 | 35.3 | 10.8 15.0 [14.0X15.8| 13.0 | 10.0 [ 12.6 | 18.5 | 33.0

Fix ASC8-R1/8-0 8 R1/8 26.6 | 14.7 | 33.7 | 36.0 | 31.0 | 7.3 16.0 (12.0X13.5| 11.0 | 8.0 | 14.6 | 14.2 | 21.0

ASC8-R1/8-1 8 R1/8 26.6 | 14.7 | 33.7 | 36.0 | 31.0 | 7.3 16.0 [12.0X13.5| 11.0 | 8.0 | 14.6 | 14.2 | 21.0

L ASC8-R1/4-0 8 R1/4 249 | 18.2 | 34.1 | 40.3 | 35.3 | 10.8 16.0 (14.0X15.8| 13.0 | 10.0 | 14.6 | 18.5 | 34.0

< / H q ASC8-R1/4-1 8 R1/4 249 | 18.2 | 34.1 | 40.3 | 35.3 | 10.8 16.0 (14.0X15.8| 13.0 | 10.0 | 14.6 | 18.5 | 34.0
o \ ‘: 77777 e ASC8-R3/8-0 8 R3/8 26.9 | 19.9 | 38.2 | 46.3 | 41.3 | 111 16.0 (19.0X21.0| 16.0 | 13.0 | 14.6 | 22.6 | 62.0
- <I F ASC8-R3/8- 8 R3/8 26.9 | 19.9 | 38.2 | 46.3 | 41.3 | 11.1 16.0 (19.0X21.0| 16.0 | 13.0 | 14.6 | 22.6 | 62.0
ASC10-R1/8-0 10 R1/8 30.4 | 16.2 | 37.5 | 36.0 | 31.0 | 7.3 19.0 (12.0X13.5| 11.0 | 8.0 | 17.5 | 14.2 | 23.0

T ¢D1 ASC10-R1/8-1 10 R1/8 30.4 | 16.2 | 37.5 | 36.0 | 31.0 | 7.3 19.0 (12.0X13.5( 11.0 | 8.0 | 17.5 | 14.2 | 23.0
ASC10-R1/4-0 10 R1/4 31.5 | 19.6 | 40.7 | 40.3 | 35.3 | 10.8 19.0 [14.0X15.8| 13.0 | 10.0 | 17.5 | 18.5 | 37.0

M5 =L ASC10-R1/4-1 10 R1/4 31.5 | 19.6 | 40.7 | 40.3 | 35.3 | 10.8 19.0 (14.0X15.8| 13.0 | 10.0 | 17.5 | 18.5 | 37.0
= 'Y ASC10-R3/8-0 10 R3/8 30.3 [ 19.9 | 41.6 | 46.3 | 41.3 | 11.1 19.0 (19.0X21.0{ 16.0 | 13.0 | 17.5 | 22.6 | 65.0

f 1 \ < ¢ ASC10-R3/8-1 10 R3/8 30.3 [ 19.9 | 41.6 | 46.3 | 41.3 | 11.1 19.0 (19.0X21.0{ 16.0 | 13.0 | 17.5 | 22.6 | 65.0
/ ¢d1 ASC10-R1/2-0 10 R1/2 32.4 | 24.5 | 46.0 | 54.5 | 49.5 | 14.4 19.0 [24.0X26.0( 20.0 | 16.0 | 17.5 | 27.4 |109.0
T ¢$8 \ B M= ASC10-R1/2-1 10 R1/2 32.4 | 24.5 | 46.0 | 54.5 | 49.5 | 14.4 19.0 (24.0X26.0( 20.0 | 16.0 | 17.5 | 27.4 |109.0
ASC12-R3/8-0 12 R3/8 37.7 | 21.2 | 49.0 | 46.3 | 41.3 | 11.1 20.0 (19.0X21.0{ 16.0 | 13.0 | 20.0 | 22.6 | 67.0

ASC12-R3/8-1 12 R3/8 37.7 | 21.2 | 49.0 | 46.3 | 41.3 | 11.1 20.0 (19.0X21.0{ 16.0 | 13.0 | 20.0 | 22.6 | 67.0
ASC12-R1/2-0 12 R1/2 33.7 | 245 | 47.4 | 54.5 | 49.5 | 14.4 20.0 [24.0X26.0( 20.0 | 16.0 | 20.0 | 27.4 [111.0
ASC12-R1/2-] 12 R1/2 33.7 | 24.5 | 47.4 | 54.5 | 49.5 | 14.4 20.0 (24.0X26.0( 20.0 | 16.0 | 20.0 | 27.4 [111.0

| 1=K—Y)547
@3IVH(X
= bt T, K 7 HX ¢

a 8 &% |G| BN v |e|u|u e * Zolcam | N | M| D | D |HE

“9 (mm)| (M,R) [(mm) |(mm)|(mm) |(mm)|(mm)|(mm)|(mm)|(mm)| (mm) |(mm)|(mm)|(mm)|(mm)| (g)

ASD4-M5-0 4 M5X0.8( 9.9 | 10.1 | 18,5 | 24.5 | 28.6 | 25.8 | 3.4 11.0 | 8.0X9.0 | 8.0 5.0 8.0 9.6 8.0

ASD4-M5-1 4 |M5X0.8| 9.9 | 10.1 (18.5 | 24,5 | 28.6 | 25.8 | 3.4 | 11.0 | 8.0X9.0 | 8.0 5.0 | 80 | 9.6 8.0

— ASD4-R1/8-O0 4 R1/8 | 122 | 13,7 | 23.1 | 28.0 | 36.0 | 31.0 [ 7.3 | 11.0 [12.0X13.5| 11.0 | 8.0 | 8.0 | 14.2 | 18.0

j ASD4-R1/8-1 4 R1/8 | 122 | 13.7 | 23.1 | 28.0 | 36.0 | 31.0 [ 7.3 | 11.0 [12.0X13.5| 11.0 | 8.0 | 8.0 | 14.2 | 18.0

ASD6-M5-0 6 |M5X0.8| 9.9 | 10.1 [19.5| 259 | 28.6 | 25.8 | 3.4 | 12.0 | 8.0X9.0 | 8.0 5.0 | 10.0 | 9.6 8.0

ASD6-M5-1 6 |M5X0.8| 9.9 | 10.1 [19.5| 25,9 | 28.6 | 25.8 | 3.4 | 12.0 | 8.0X9.0 | 8.0 5.0 | 10.0 [ 9.6 8.0

ASD6-R1/8-0 6 R1/8 [ 122 [ 13.7 | 24.1 | 29.4 | 36.0 | 31.0 [ 7.3 | 12.0 [12.0X13.5| 11.0 | 8.0 | 10.0 | 14.2 | 19.0

L3 ASD6-R1/8- 6 R1/8 [ 122 [ 13.7 | 24.1 | 29.4 | 36.0 | 31.0 [ 7.3 | 12.0 [12.0X13.5| 11.0 | 8.0 | 10.0 | 14.2 | 19.0

L1 ASD6-R1/4-0 6 R1/4 [ 143 (17.1 | 28.4 | 329 | 40.3 | 35.3 | 10.8 | 12.0 (14.0X15.8| 13.0 | 10.0 | 10.0 | 18.5 | 32.0

N, ASD6-R1/4-1 6 R1/4 [ 143 ( 17.1 | 28.4 | 329 | 40.3 | 35.3 [ 10.8 | 12.0 (14.0X15.8| 13.0 | 10.0 | 10.0 | 18.5 | 32.0

M\ #M D) ASD8-R1/8-0 8 R1/8 | 16.1 | 14.4 | 30.5 | 35.1 | 36.0 | 31.0 [ 7.3 | 16.0 [12.0X13.5| 11.0 | 8.0 | 14.6 | 14.2 | 22,0
ASD8-R1/8- 8 R1/8 | 16.1 | 14.4 | 30.5 | 35.1 | 36.0 | 31.0 [ 7.3 | 16.0 [12.0X13.5| 11.0 | 8.0 | 14.6 | 14.2 | 22,0

! I ASD8-R1/4-0 8 R1/4 |18.2 | 18.0 | 34.8 | 38.7 | 40.3 | 35.3 | 10.8 | 16.0 [14.0X15.8| 13.0 | 10.0 | 14.6 | 18.5 | 36.0

3 3 - ASD8-R1/4-1 8 R1/4 |18.2 | 18.0 | 34.8 | 38.7 | 40.3 | 35.3 [ 10.8 | 16.0 [14.0X15.8| 13.0 | 10.0 | 14.6 | 18.5 | 36.0

X & < ASD8-R3/8-0 8 R3/8 |20.3 | 18.7 | 38.9 | 39.4 | 46.3 | 41.3 [ 11.1 | 16.0 [19.0X21.0| 16.0 | 13.0 | 14.6 | 22.6 | 64.0
M — _J - ASD8-R3/8-I 8 R3/8 |20.3 | 18.7 | 38.9 | 39.4 | 46.3 | 41.3 [ 11.1 | 16.0 [19.0X21.0| 16.0 | 13.0 | 14.6 | 22.6 | 64.0

3 ASD10-R1/4-0| 10 R1/4 |18.2 | 18.0 | 36.2 | 42.6 | 40.3 | 35.3 | 10.8 | 19.0 |14.0X15.8| 13.0 | 10.0 | 17.5 | 18.5 | 38.0
<I ” ”\ ASD10-R1/4-1 10 R1/4 | 18.2 | 18.0 | 36.2 | 42.6 | 40.3 | 35.3 | 10.8 | 19.0 |14.0X15.8| 13.0 | 10.0 | 17.5 | 18.5 | 38.0

D1 T ASD10-R3/8-0 | 10 R3/8 | 20.3 | 18.7 | 40.3 | 43.3 | 46.3 | 41.3 | 11.1 | 19.0 [19.0X21.0| 16.0 | 13.0 | 17.5 | 22.6 | 66.0
ASD10-R3/8-1 10 R3/8 | 20.3 | 18.7 | 40.3 | 43.3 | 46.3 | 41.3 | 11.1 | 19.0 |19.0X21.0| 16.0 | 13.0 | 17.5 | 22.6 | 66.0

139



